EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / IMSC_AC-NC / (NC/17) / 2016-2017

By the order of Examination committee, the following is the result of IMSC_AC - NC Semester held in the month of NOV-2017

	SESSION	: 2016-2017 CLASS	: IM	SC_AC			BRANC	CH : II	MSC_AC	;				SEMEST	ER / TR	IMES	ΓER	: NC		MON	TH OF EXAM	: NOV	-2017
	ROLL NO	NAME	U L	SAC	1001(4)	SAC2	2001(4)	SAC20	003(3)	SAC2	011(3)	SAC2	109(3)	SAC30	003(3)	-	-		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
L				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
I	ICH/10005/12	KAUSTAV SAHOO	U	С	20.0	В	24.0	-	-	В	18.0	-	-	-		-	-	-	-	62.0	11.0	5.64	_
	1011/10003/12	KAUSTAV SAIIOO	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	02.0	11.0	3.04	_

SAC1001(4)	: ADVANCED PHYSICAL CHEMISTRY	-	:
SAC2001(4)	: THEORETICAL CHEMISTRY	-	:
SAC2003(3)	: SYNTHETIC ORGANIC CHEMISTRY	-	:
SAC2011(3)	: ADVANCED INORGANIC CHEMISTRY	-	:
SAC2109(3)	: ENVIRONMENTAL MONITORING & CONTROL	-	:
SAC3003(3)	: INDUSTRIAL CHEMISTRY	-	:
-	:	-	:

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / IMSC_AM-NC / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of IMSC AM - NC Semester held in the month of NOV-2017

SESSION	: 2016-2017 CLASS :	IMSC	_AM			BRANCH	H : IMS	C_AM					SE	MEST	ER / TI	RIMES	STER	: NC	M	ONTH OF EXA	M : NO	V-2017
ROLL NO	NAME	U	CS7	121(3)	IMM50	005(4)	IMM90	003(4)	-		-		-		-			-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
IMH/1005/11	SUSANTO DEY	U	D	12.0	F	0.0	-	-	-	-		-	-		_	-	-	-	12.0	7.0	1.71	
110111/1003/11	303ANTO DET	L	-	-	-	-	-	-	-	-	- I	-	-	- I	-	-	-	-	12.0	7.0	1.71	-

 CS7121(3)
 : CRYPTOGRAPHY AND NETWORK SECURITY
 :

 IMM5005(4)
 : MODERN & LINER ALGEBRA
 :

 IMM9003(4)
 : FUNCTIONAL ANALYSIS
 :

 :
 :

 :
 :

 :
 :

 :
 :
 :

Controller of Examinations

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / MBA-NC / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of MBA - NC Semester held in the month of NOV-2017

Date : DEC-2017

SESSION :	2016-2017 CLASS	: MBA		В	RANCH :	MANAGE	MENT						S	EMEST	ER / TRI	MESTE	R : N	С		MONTH OF EXA	M : NOV-	2017
ROLL NO	NAME	U L	MBA2	009(4) PT.	MBA30	003(3) PT.	MBA GR.	3015(3) - PT.	MSH1	PT.	- GR.	PT.	GR.	PT.	GR.	PT.	GR.	- - PT.	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
MBA/10034/12	ANIMESH KUMAR	U L	-	-	F -	0.0	D -	12.0	-	-	-	-	-	-	-	-	-	-	12.0	6.0	2.00	-

MBA2009(4) :	OPERATIONS RESEARCH		-	:
MBA3003(3) :	INVESTMENT AND PORTFOLIO MANAGEMENT		-	:
MBA3015(3) :	COST AND MANAGEMENT ACCOUNTING		-	:
MSH1143(3) :	FRENCH I		-	:
- :			-	:
- :			-	:
- :			-	:
			_	

Controller of Examinations

Disclaimer

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / MBA-NC / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of MBA - NC Semester held in the month of NOV-2017

SESSION :	2016-2017 CLASS : I	ИВА		BRA	ANCH :	MANA	GEMENT					S	EMES	TER/	TRIME	STER	: N	IC	MON	NTH OF EXAM	: NO\	-2017
ROLL NO	NAME	U	MBA	2009(4)	MBA3	003(3)	MBA3	,		1143(3)	-		-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MBA/10027/15 ANI	ANISH KUMAR GUPTA	U	-	-	-	-	-	-	В	18.0	-	-	-	-	-		-	-	18.0	3.0	6.00	
WIDA/ 1002// 13	ANGTROWARGOTA	L	-	-	-	-	-	-	-	-	-	-	-		-	-	-	-	10.0	3.0	0.00	_
MBA/10053/15	SRIKANT	U	С	20.0	-	-	-	-	-	-	-	-	-	-	-		-	-	20.0	4.0	5.00	
WIBA/ 10033/13	SKIKANI	L	-	-	-	-	-	-	-	-	-]							20.0	4.0	3.00	_
MBA/10069/15 TW	TWINKLE KUMARI	U	D	16.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	16.0	4.0	4.00	_
WIDA/ 10009/13	TWINKEL KOWAKI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	- I	-	-	10.0	4.0	4.00	_

 MBA2009(4)
 : OPERATIONS RESEARCH
 :

 MBA3003(3)
 : INVESTMENT & PORTFOLIO MANAGEMENT
 :

 MBA3015(3)
 : COST AND MANAGEMENT ACCOUNTING
 :

 MSH1143(3)
 : FRENCH-I
 :

 :
 :

 :
 :

 :
 :

Controller of Examinations

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / MCA-NC / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of MCA - NC Semester held in the month of NOV-2017

Date: DEC-2017

SESSION :	2016-2017 CLASS : MC.	4]	BRANCI	H : CC	MPUTER	SCIENCI	E					SE	EMEST	ER/T	RIMES	STER	: NO	MC MC	ONTH OF EXA	M : NO	V-2017
ROLL NO	NAME	U L	MCA30	007(4)	MCA4	4001(4)	MCA'	7401(3)	-			-		-		-		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MCA/10041/13	RAVI KUMAR RAJAK	U	F	0.0	D	16.0	В	18.0	-	-	-	-	-	-	-	-	-	-	34.0	11.0	3.09	_
WICA/10041/13	RAVI KUWAK KAJAK	L	-	-	-	-	-	-	-	-	-	-	_	-		-	-	-	54.0	11.0	3.09	

MCA3007(4) MCA4001(4)	: AUTOMATA THEORY : COMPILER DESIGN	- -	:
MCA7401(3)	: NETWORK SECURITY & CRYPTOGRAPHY	-	:
-	:	-	:
-	:	-	:
-	:	-	:
_	:	_	:

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: DEC-2017

ANANT NADAMWAR

Reference: EXAM / JPP / BITIC / MESRA / ME_CAAD-NC / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of ME_CAAD - NC Semester held in the month of NOV-2017

SESSION : 2016	5-2017 CLASS : ME_CAAI)			BRANCI	H : M	E_CAAD					SEMI	ESTER	/ TRI	MEST	ER	NC		MONT	TH OF EXAM	: NOV	-2017
ROLL NO	NAME	U L	MCD	1001(3)	MCD1	003(4)	MCD	1005(3)	MCD2	001(4)	-		-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Шĺ	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
ME/CAAD/10007/14	SOM SOBHIT EKKA	U	-	-	F	0.0	-	-	F	0.0	-	-	-	-	-	-	-	-	00.0	8.0	0.00	
WIE/CAAD/1000//14	SOW SOBIIT ERRA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	8.0	0.00	
ı		ΤT	D	10.0			D	100														

MCD1001(3)	: SYSTEM ANALYSIS & DESIGN	-	:
MCD1003(4)	: ENGINEERING ELASTICITY & PLASTICITY	-	:
MCD1005(3)	: ADVANCED DYNAMICS & VIBRATION	-	:
MCD2001(4)	: FINITE ELEMENT METHOD IN SOLIDS & STRUCTURES	-	:
-	:	-	:
-	:	-	:
-	:	-	:
-	:	-	

Controller of Examinations

6.00

36.0

Disclaimer

Disclaimer

ME/CAAD/10008/14

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / ME_CIVIL-NC / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of ME CIVIL - NC Semester held in the month of NOV-2017

SESSION:	2016-2017 CLASS : ME_C	IVIL			BRAN	CH :	MANAC	SEMENT					SEMEST	ER/TF	RIMES	TER	: NC	;	MONT	H OF EXAM	: NO\	′-2017
ROLL NO	NAME	U	MCE1	117(3)	MCE1	119(3)	MCE	2101(3)	MCE2	111(4)	MCE2	117(3)	MMA1	105(3)		-	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
ME/CE/10021/15	SANDIPAN DEBNATH	U	F	0.0	-	-	D	12.0	-	-	-	-	F	0.0	-	-	-	-	12.0	9.0	1.33	
WIL/OL/10021/13	ONIVOII AIN DEDINATTI	L	-	-	-	-	-	-	- 1	-	-	-	-	-	-	-	-	-	12.0	9.0	1.55	-

MCE1117(3)	: DYNAMICS OF SOILS AND FOUNDATIONS	-	:
MCE1119(3)	: PRESTRESSED CONCRETE	-	:
MCE2101(3)	: ADVANCED SOIL MECHANICS	-	:
MCE2111(4)	: STRUCTURAL ANALYSIS	-	:
MCE2117(3)	: STRUCTURAL DESIGN OF FOUNDATIONS	-	:
MMA1105(3)	: COMPUTATIONAL MATHEMATICS	-	:
_		_	

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / ME_CIVIL-NC / (NC/17) / 2016-2017

By the order of Examination committee, the following is the result of ME_CIVIL - NC Semester held in the month of NOV-2017

SESSI	ON : 2016-2017	CLASS : MI	E_CIV	VIL		BR	RANCH	: ME_	CAAD				SI	EMESTER	R / TRIM	IESTE	R :	NC		MONTI	H OF EXAM	: NOV	-2017
ROLL NO		NAME	U L	MCE1	117(3)	MCE1	119(3)	MCE2	101(3)	MCE2	111(4)	MCE2	2117(3)	MMA1	105(3)	-	-	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
ME/CE/10009	9/14 SHRAVAN	RANDI	U	-	-	F	0.0	-	-	F	0.0	С	15.0	F	0.0	-	-	-	-	15.0	13.0	1.15	
WIL/CE/1000	JII JIIKA VAN	DANDI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	13.0	1.13	-

MCE1117(3)	: DYNAMICS OF SOILS AND FOUNDATIONS	-	:
MCE1119(3)	: PRESTRESSED CONCRETE	-	:
MCE2101(3)	: ADVANCED SOIL MECHANICS	-	:
MCE2111(4)	: STRUCTURAL ANALYSIS	-	:
MCE2117(3)	: STRUCTURAL DESIGN OF FOUNDATIONS	-	:
MMA1105(3)	: COMPUTATIONAL MATHEMATICS	-	:
-	:	-	:

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / ME ECE-NC / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of ME ECE - NC Semester held in the month of NOV-2017

SESSION :	2016-2017 CLASS : M	E_EC	Œ		В	RANCH	: ECE					SEME	STER	/ TRIN	/IESTE	R :	NC		MON	TH OF EXAM	: NOV-	2017
ROLL NO	NAME	U L	MEC1	053(3)	MEC2	2001(3)	MEE ²	1105(3)	TNT2	2003(3)	-		-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
ME/EC/10022/15	KUMARI RAMBHA RANJAN	U	D	12.0	D	12.0	В	18.0	В	18.0	-	-	-	-	-	-	_	-	60.0	12.0	5.00	
WE/EC/10022/13	ROWARI RAWBHA RANSAN	L	-	-		-	-	-	-	-	-	-	-	-	-	-			60.0	12.0	5.00	-
ME/EC/10023/15	A CHA IZUMA DI	U	-	-		-	В	18.0	С	15.0	-	-	-	-	-	-			33.0	6.0	5.50	
	EC/10023/15 ASHA KUMARI	L	- 1	-	-	-	-	-	-	-	<u> </u>	-	-	<u> </u>	-	-	<u> </u>	-	SS.U	0.0	0.50	_

 MEC1053(3)
 : MICROCONTROLLER BASED SYSTEM DESIGN
 :

 MEC2001(3)
 : ADVANCE DIGITAL SIGNAL PROCESSING
 :

 MEE1105(3)
 : OPTIMIZATION IN ENGINEERING DESIGN
 :

 TNT2003(3)
 : NANOPHOTONICS
 :

 :

 :

 :

 :

Controller of Examinations

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / MGI-NC / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of MGI - NC Semester held in the month of NOV-2017

SESSION	: 2016-2017 CLASS	: M	GI		BRA	NCH	: MC	δI	•				SEM	ESTER	/ TRIM	ESTE	₹ : 1	NC	MC	ONTH OF EXAM	1 : NOV	-2017
ROLL NO	NAME	U L		3001(3)	- CD	- -	- CP	=	- CD	PT.	- -	=	- CD	DT	- -	DT	- CD		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GK.	PI.	GR.	P1.	GR.	P1.	GR.	PT.	GK.	PT.	GR.	PT.	GR.	PT.				
MGI/10006/14	PIYUSH PRITAM BAXLA	U	В	18.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	18.0	3.0	6.00	
WIGI/10000/14	ITTOSHTRITAW BAALA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	10.0] 5.0	0.00	_

SGI3001(3)	: SPATIAL ANALYSIS MODELING & DECISION SUPPORT SYSTEM	-	:	
-		-		
-	:	-	:	1
-	:	-	:	-awary.
-	:	-	:	~ <u> </u>
-	:	-	: C	Controller of Examinations
-	:	-	:	

Disclaimer

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / MSC AC-NC / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of MSC AC - NC Semester held in the month of NOV-2017

SESSION :	: 2016-2017 CLASS : MSC	_AC		E	BRANCI	H : CC	MPUTE	R SCIEN	CE				SI	EMESTER	R / TRI	MEST	ER :	NC	МО	NTH OF EXAM	И : NC	V-2017
ROLL NO	NAME	U L	SAC1	001(3)	SAC2	2001(4)	SAC	2003(3)	SAC20	011(3)		.109(3) -	SAC	3003(3)		-	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
SAC/10004/15	VISHNU KUMAR	U	-	-	-	-	_	-	-	-	В	18.0	-	_		-	-		18.0	3.0	6.00	
3AC/10004/15	VISHNO KOWAK	L	-	-	-	-		-	-	-	-	-	-	-		-	-	-	16.0	3.0	0.00	-
SAC/10005/15	RAKESH TIRKEY	U	D	12.0	-	-		-	-		В	18.0	D	12.0	-	- 1			42.0	9.0	4.67	
SAC/10005/15	RAKESH HRKET	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	42.0	9.0	4.07	-
SAC/10007/15	A CLUCIT KLIMA D	U	D	12.0	В	24.0	В	18.0	-	-	В	18.0	D	12.0	-	-	-	- 1	84.0	16.0	5.25	
SAC/10007/15	ASHISH KUMAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	84.0	16.0	5.25	-

Controller of Examinations

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / MTECH_BMI-NC / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of MTECH_BMI - NC Semester held in the month of NOV-2017

Date:

SESSION : 2016-	-2017 CLASS : MTECH_	ВМІ			BRAN	CH :	MTE	CH_BM	I					SEM	ESTER	/TRIN	/IESTE	R : 1	NC M	MONTH OF EXA	AM : NO	OV-2017
ROLL NO	NAME	L	GR.	2003(4) - PT.	GR.	- PT.	GR.	- PT.	GR.	РТ.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	- - PT.	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
MT/BMI/10001/15	NIKITA SETH	U	D -	16.0	-	-	-	-	-	-	-	- -	-	-	-	-	-	<u> </u>	16.0	4.0	4.00	-

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / MTECH_CS-NC / (NC/17) / 2016-2017

By the order of Examination committee, the following is the result of MTECH_CS - NC Semester held in the month of NOV-2017

SESSION : 20	016-2017 CLASS : MTECH_	CS		В	RANCH	: CO	MPUTE	R SCIEN	CE				SE	MESTEI	R / TR	IMES	ΓER	: NC	MON	NTH OF EXA	M : NO	OV-2017
ROLL NO	NAME	U L	MSE	1003(3)	TCS10	001(3)	TCS1	025(4)	TCS2	2037(3)	TCS2	-	TIS1	019(3)	-	-		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MT/CS/10004/14	RAJESH KUMAR SINGH	U	D	12.0	F	0.0	С	20.0	С	15.0	D	16.0	D	12.0	-	-	-	-	75.0	20.0	3.75	_

MSE1003(3)	: OBJECT ORIENTED MODELLING & DESIGN	-	:
TCS1001(3)	: DATABASE MODELLING AND DESIGN	-	:
TCS1025(4)	: ADVANCED OPERATING SYSTEM CONCEPTS	-	:
TCS2037(3)	: DESIGN & ANALYSIS OF PARALLEL ALGORITHMS	-	:
TCS2039(4)	: HIGH PERFORMANCE COMPUTER ARCHITECTURE	-	:
TIS1019(3)	: CRYPTOGRAPHY & NETWORK SECURITY	-	:
-	:	-	:

Controller of Examinations

Disclaimer

Disclaimer

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / MTECH_CS-NC / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of MTECH CS - NC Semester held in the month of NOV-2017

SESSION : 2	2016-2017 CLASS : MTECH_	CS		Е	BRANCH	: CO	MPUTEF	SCIEN	CE				SE	MESTE	R/TR	IMES	ΓER	: NC	МО	NTH OF EXAI	M : NC	V-2017
ROLL NO	NAME	U	MSE1	003(3)	TCS10	001(3)	TCS10)25(4)	TCS20)37(3)	TCS2	2039(4)	TIS10	19(3)	-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MT/CS/10006/15	BASUDEB MANDAL	U	-	-	-	-	-	-	-	-	В	24.0	-		-			-	24.0	4.0	6.00	
W17C3/10000/15	BASODED WANDAL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	- I	24.0	4.0	0.00	-

MSE1003(3)	: OBJECT ORIENTED MODELLING AND DESIGN	-	:
TCS1001(3)	: DATABASE MODELLING AND DESIGN	-	:
TCS1025(4)	: ADVANCED OPERATING SYSTEM CONCEPTS	-	:
TCS2037(3)	: DESIGN AND ANALYSIS OF PARALLEL ALGORITHMS	-	:
TCS2039(4)	: HIGH PERFORMANCE COMPUTER ARCHITECTURE	-	:
TIS1019(3)	: CRYPTOGRAPHY AND NETWORK SECURITY	-	:
_ ` ` ′	:	_	

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / MTECH_EVS-NC / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of MTECH EVS - NC Semester held in the month of NOV-2017

	SESSION: 2016	-2017 CLASS : MTECH_EV	'S			BRANG	CH :	MTECH_	EVS					SE	MEST	ER/T	RIME	STER	: NC) MC	ONTH OF EXA	M : NO	V-2017
	ROLL NO	NAME	U	TES2	005(4)	TIS20	03(3)	TIS20	31(3)	-			-	-		-			-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
L				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	MT/ENV/10006/15	NISHANT GOLIRAV	U	В	24.0	-	-	-	-	-	-	-	-		-	-	-	-	-	24.0	4.0	6.00	

TES2005(4)	: ENVIRONMENTAL SYSTEM ENGINEERING	-	:
TIS2003(3) TIS2031(3)	: DATABASE SECURITY : DATA COMPRESSION AND DATA HIDING	-	
1152031(3)	. DATA COMPRESSION AND DATA HIDING	-	:
-	:	-	:
-	:	-	:

Disclaimer

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / MTECH IS-NC / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of MTECH IS - NC Semester held in the month of NOV-2017

SESSION: 2016-2017 CLASS: MTECH_IS				BRA	NCH :	COMP	UTER S	CIENCE			SEMESTER / TRIMESTER : NC MONTH OF EXAM : NOV-20									OV-2017		
ROLL NO	NAME	U	MSE2	2001(3)	TIS20	003(3)		031(3)	-		-		-	-	-	-	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				<u> </u>
MT/IS/10007/15	NILOTPAL PATHAK	U	-	-	В	18.0	В	18.0	-	-	-	-	-	-	-	-	-		36.0	6.0	6.00	
1017/15/10007/15	NILOTPAL PATHAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		36.0	6.0	0.00	-
MT/IS/1010/11 RAJA G	RAJA GANGULY	U	D	12.0	-	-	-	-		-	-	-	-	-	-	-	-	-	12.0	3.0	4.00	-
1011/13/1010/11	RAJA GANGULT	L	-	-	-	-	-	-		-	-	-	-	-	-	-	-	-	12.0	3.0	4.00	

 MSE2001(3)
 : SOFTWARE DESIGN AND TESTING
 :

 TIS2003(3)
 : DATABASE SECURITY
 :

 TIS2031(3)
 : DATA COMPRESSION AND DATA HIDING
 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

 :

Controller of Examinations

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / MTECH_RS-NC / (NC/17) / 2016-2017

By the order of Examination committee, the following is the result of MTECH_RS - NC Semester held in the month of NOV-2017

Date	:	DEC-2017

SESSION : 20	16-2017 CLASS : MTECH	_RS			CH :	MTE	CH_RS		SEMESTER / TRIMESTER : NC MONTH OF EXAM : NOV-2017											OV-2017		
ROLL NO	. NO NAME		MCA1001(3)						-		-		-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MT/RS/10013/14	PUSHPA LAKRA	U	D	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	12.0	3.0	4.00	
W11/R3/10013/14	I USIII A LARKA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	12.0	3.0	4.00	-
MT/RS/10014/14	SUSHMA MINZ	U	D	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	12.0	2.0	4.00	-
M1/R5/10014/14	SUSHIMA MIINZ	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	12.0	3.0	4.00	

MCA1001(3)	: PROBLEM SOLVING & PROGRAM DESIGN WITH C	-	:
-	· ·	-	:
-	:	-	:
-	•	-	:
-	•	-	:
-	•	-	:
-	•	-	:
-		-	

Controller of Examinations

Disclaimer

Disclaimer